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2020
SOCIOLOGY (General)
Paper:I1-A & B
[New Syllabus]

Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).
Subject Code : [II[|A|& |B

Subject Name :

® Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is “CORRECT” answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.

Example — If alternative A of 1 is correct, then write :
1. — A

® There is no negative marking for wrong answer.
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Paper Code : I - A
Full Marks : 50 Time : One Hour
Choose the correct answer.

Each question carries 2 marks.

1. In which year did August Comte rename his “Social Physics” as “Sociology’?
(A) 1818
(B) 1857
(C) 1839
(D) 1914

S| ARG (PR FE AT *MLRWR 2IRRACE FTeiereg ANFel I 2
(A) Stsv
(B) svea
(C) Svos
(D) 5558
2. The sociology is derived from two words. Identify —
(A) Latin
(B) Latin and Greek
(C) Latin and German
(D) Greek and Latin

3| “Sociology’ *[(b (FIF ©R (AF (SN FCACR?
(A) =i
(B) =Tifow ¢ &
(C) o ¢ sfiw
(D) &% ¢ 7w
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3. L. H. Morgan is known as the father of —
(A) British Anthropology
(B) American Anthropology
(C) French Anthropology
(D) Indian Anthropology

9| L. H. Morgan &< 2013 #ifdfow
(A) o™ Tog
(B) SR oG
(C) =T Tog
(D) SIS Tog

4. Sociology may be defined as the science of —
(A) Man
(B) Society
(C) Mind
(D) Science

8| MGregeE @7 [l e I 2

(A) ST
(B) &
(C) 3=
(D) e
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5. Which among the following is not an example of an institution?
(A) Red cross society
(B) A college
(C) Marriage
(D) A social group

¢

¢ | fNfee @D ANEe dfodias Snigae 732
(A) @© T ARG
(B) wtste
(C) frz

(D) fe=s ol
6. Who enjoys prestige best?
(A) A car broker
(B) A doctor
(C) A businessman
(D) A judge
Y| (@ e A TTees ?
(A) oIS Rl
(B) wI&H
(C) ==
(D) favta=
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7. Which among the following represents as primary group?
(A) a golf club
(B) a political party
(C) a group of people
(D) a family

q| fsferfie @I el s Svgad 2
(A) T FIT
(B) Ao Wl
(C) GaCalD!
(D) s

8. Family is an important —
(A) interest group
(B) primary group
(C) organized group
(D) secondary group

v oifsae @ ewel
(A) TSTF (oD
(B) 2l (ot
(C) eifFe condt
(D) et cond
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9. The term social structure was first used by —

(A) A. Comte

(B) Spencer
(C) Parsons

(D) Brown

5| ANETE FT *7H (F T T2 I ?
(A) 5 @I
(B) 2IAG (~=i
(C) TIE<0 A1
(D) M Qe

10. Which among the following represents an organization?
(A) Factory
(B) Nayars of Kerala in Delhi
(C) Market
(D) School

so | ANET AT Swlmdel
(A) TR
(B) fafafeam @acea <ma caldt
(C) e
(D) 3
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11. The process of socialization ends with —
(A) Death
(B) Peer group
(C) Adulthood
(D) Childhood

SY | AR A 9

(A) T
(B) =R (AN
(C) (FTARE
(D) fre =g
12. Who distinguish between mechanical solidarity and organic solidarity?
(A) F. Tonnies
(B) G. Simmel
(C) E. Durkheim
(D) H. Spencer

53| AfES ¢ Cal Ao Wy ALy foheel Feaces
(A) F. Tonnies
(B) G. Simmel
(C) E. Durkheim
(D) H. Spencer
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13. Who distinguish between direct and indirect conflict?
(A) R. Maclver
(B) C. H. Colley
(C) K. Davis
(D) R. Dahrendorf

Y9 | 2P € SR BYd A1 sl S0
(A) TSR
(B) B «@2p. Jfer
(C) . (Tfen
(D) W4, w2Ewe
14. Which is based on direct cooperation?
(A) Assembly
(B) Council
(C) Family
(D) Government
%8| (@D oo Terifier Som fofe 3 oIt $to e
(A) T
(B) ~Hfeam
(C) #ifF=m
(D) =i
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15. The process which aims to defeat the opponent is called —
(A) Co-operation
(B) Competition
(C) Assimilation
(D) Accommodation

Se| @ Amied N elforyics “Hifere 41 28 —
(A) FElfoTe!
(B) =fstaifarst
(C) Sraeel
(D) TS

16. Assimilation is essentially a —
(A) Historic process
(B) Psychological process
(C) Political process
(D) Social process

S| A dYTe @B
(A) afszife el
(B) WP afen

(C) Freifes elfema

(D) i e
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17. The families of Garo tribes are —
(A) Matrilineal
(B) Patrilineal
(C) Composite
(D) None of these

sa | aNCE enfvasTR '
(A) FTGIATEE
(B) forg axeigafire
(C) e
(D) TR (IICAGIZ =

18. Who among the following has defined patriarchal family?
(A) Durkheim
(B) Morgan
(C) Parsons
(D) Westermarck

s | fsfaifie @i afe Fipellas s swet e
(A) oS
(B) off
(C) ==
(D) STIHIENF
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19. Cross cousin marriage is —
(A) Sororate
(B) Levirate
(C) Exogamous
(D) Endogamous

So | SIgRRAE ' T
(A) ifermiazel
(B) (reaa=el
(C) afzfarg
(D) =TT

20. Polygamy is the form of marriage where —
(A) Women leaving temporary with a man
(B) One man has one wife
(C) One man has several wife

(D) None of these

0| @GNy Rag g |
(A) GFC W2el SRS GFe 2R AL I F4l
(B) O3G 7[FRF AN GFe 917 sAfFa7 Fai
(C) e = G fEei 70z AR w0
(D) @IABE T
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21. The essential characteristic of the rural society is —
(A) Individualism
(B) Heterogeneity
(C) Face-to-face relationship

(D) None of the above

RS | & IS 2 (AR 2T
(A) TfeTogoRm
(B) fmrestel
(C) o 7=t
(D) (AR
22. Community development program was introduce in India in the year of —
(A) 1947
(B) 1950
(C) 1952
(D) 1976

33| MRS TR 2T CRCS F 2 (HIe ACH?
(A) >s81a

(B) Saceo
(C) svey

(D) s»av
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23. The concept of “rurbanization” was introduced by —
(A) R. Park
(B) J. Galpin
(C) T. Parsons
(D) R. Redfield

29 | “Rurbanization” AIFelis (F AL 2T I 2
(A) SE. A
(B) (. aleAtole
(C) 5. it
(D) IF. @FoiFs

24. The rural area surrounded by the city is known as —
(A) Suburban
(B) Shum
(C) Urban village
(D) Hinterland

38| G &INCF e * 2T ol &
(A) ==Fs
B) <f@
(C) *=C3 &

(D) “5irgf

Page : 14 of 19



25. Urban community is marked by —
(A) Social complexity
(B) Casteism
(C) Hospitality
(D) Homogeneity

3¢ | W9 TRmE Do ey @Eil
(A) ANITEE SibeTel
(B) Sreail
(C) =nfstare
(D) el
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2020
SOCIOLOGY (General)
Paper: 1 -B

[New Syllabus]

Full Marks : 100 Time : Three Hours

The figures in the margin indicate full marks.

Group-A
Answer any five questions taking at least one from each section :
15%x5=75
Section - I
1. Discuss the nature and scope of sociology. 8+7
2. Define culture. Discuss the elements of culture. 5+10
3. What is social control? Discuss the agencies of social control. 5+10
Section - 11
4. Define family. Discuss the forms of family with proper examples. 5+10
5. What is marriage? Discuss the rules of marriage. 5+10

6. What is social change? Analyze the technological and cultural factors of social
change. 5+5+5

Section - I11

7. Analyse the changes in the rural society of India. 15
8. Discuss the problems of urbanization in India. 15
9. Discuss, in brief, the rural development programmes in India. 15
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Group-B

Answer any five questions taking at least one from each section :  5%5=25
Section - I

10. Relationship between sociology and political science. 5

11. Difference between primary group and secondary group. 5

12. Role of cooperation as a social process. 5
Section - 11

13. Features of family. 5

14. Forms of marriage. 5

15. Cultural lag. 5

Section - I11

16. Rural urban differences. 5
17. Industrialization in India. 5
18. Impact of globalization on Indian society. 5

BB

e -3
ATSIHO CIF (ATF FAATF G0 I3 2% 7 @5 “ivid 2eeg Ted 7l |
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G - F
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